Haryana Staff Selection Commission
Post :- Junior Engineer ( Civil), Urban Local Bodies
Morning shift Advt No 1/2016 Cat No 35
The basic value for vertical deflection of span to overall depth ratio for shorter span up to 3.5 m
for simply supported slab is

(2) 12 (2) 20

(3) 40 (4) 35

T AT &IF & [T 3.5 m T it o7 [@AEgia (e Aegia & T8 Tg0s A7 § Fea Feqor %
forT wet w1+ foraaT 8 2

(1) 12 (2) 20

(3) 40 (4) 35

The minimum and maximum value of cross-sectional area of longitudinal reinforcement for
column are and respectively.

(1) 0.12%, 4% (2) 0.6%, 8%

(3) 0.8%, 6% (4)  0.4%, 12%

FIAH % [T Aqaed Yaad & SAqIET FE &7 F ~qAqH F ATAFHTH HIT FHH: E1k8
g

(1) 0.12%, 4% (2) 0.6%, 8%

(3) 0.8%, 6% (4) 0.4%, 12%

Spacing of longitudinal bars measured along the periphery of the column shall not exceed
(1) 2100 mm (2) 150 mm

(3) 200 mm (4) 300 mm

FieH T gl o Ty Arod srqaed aivat 1 staare foa o o7ferss 78t gMT AU ?

(1) 100 mm (2) 150 mm

(3) 200 mm (4) 300 mm

The longitudinal bars shall not be in diameter.

(1) <12mm (2) <12mm

(3) >12mm (4) =212mm

et AT T AT Tl g1 A=Y |

(1) <12mm (2) <12mm

(3) >12mm (4) =12mm

The section is called under reinforced section when

(1)  Mu>My,iim (2)  Xu> Xu, max

(3) Xu < Xu, max (4) Xu = Xu, max

UF G &l YT G & AefIH Fd Fgl J1aT 8 2

(1)  Mu>Muy,iim (2)  Xu>Xu, max

(3) Xu < Xu, max (4) Xu = Xu, max

To design isolated column footing, working load = factored load.

(1) 150 (2) 0.7

(3) 120 (4) 0.80

TIF FAH AT T2 F & forg w91 = GReT A ATz |

(1) 1.50 (2) 0.67

(3) 120 (4) 0.80
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What is the dimension of A2 size drawing sheet?

(1) 880 mm x 625 mm (2)
(3) 625 mm x 450 mm (4)
A2 STRTT T ST offe T sramH fhaar grar g ?

(1) 880 mm x 625 mm (2)
(3) 625 mm x 450 mm (4)
Give full form of Cl.

(1) Common Inspection (2)
(3) Corrugated Iron (4)
Cl & QU AT FT 5 ?

(1) AT e (2)
(3) F IS A (4)

The values of angles are
isometric view.

degree on one side and

841 mm x 584 mm
594 mm x 420 mm

841 mm x 584 mm
594 mm x 420 mm

Cold Insulation
Cast lron

T TrEAIH

e AL

degree on other side for

(1) 30,60 (2) 30,30

(3) 45,45 (4) 45,60

PremeaTe 397 (=) * o FHT #7919 U a7 =l sfie @@t v == g
(1) 30,60 (2) 30,30

(3) 45,45 (4) 45,60

The pitch of the stair should be between degree.

(1) 25to40 (2) 30to45

(3) 20to40 (4) 30to40

HTET FT 2T =ft & = gaT =R |

(1) 25%40 (2) 30%45

(3) 20%40 (4) 30%40

The path which has zero floats is

(1)  Sub critical path (2)  Critical path

(3)  Super Critical path (4)  Normal path

EERRREEEIR ERI RN

(1) ST @ifds 9 (2) wifaw T

(3) ewfamifas oy (4) FTEEE IS

The economic life of construction equipment is intact as long as it maintains average operating
cost per

(1) day (2) second

(3) minute (4) hour

TAHTOT ITFOT FT ATTHF (A STeAd Tgar g T9d ST Sied TATAT AErd T T @
B ST

(1) fe= 2) e

(3) fame (4) e

The wages paid in cash to workers are known as

(1) Free wages (2)  Real wages

(3) Nominal wages (4)  Fair wages

TGN &l ASTGLT & Aha AT FIT FgATdT 57

(1) o A (2)  =rEfaE ASgd
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(3)  =THT weIgr (4) St wegr

The distance between the centres of any two adjacent fasteners shall not exceed

(1) 32t (2) 300 mm

(3) 450 mm (4) 32t or 300 mm

et 21 FrereardT et 3 e 7 gz At R A AR

(1) 32t (2) 300 mm

(3) 450 mm (4) 32t =T 300 mm

The fire safety, corrosion and durability criteria are included in which of these theories?
(1)  Limit state of Strength (2)  Limit state of Service ability
(3) Limit state of Shear (4)  Limit state of Collapse
it ® & v Rrgia ® o1for g, e siw earfies araee anfer 3o s 8 2

(1) erar & Hifaa s (2)  Far FFar i v sEwr
(3)  sro=uur ft FA sraEreT (4)  fRura & fifeg saeer

The buckling class for channel section is

(1) a (2) b

3) «c (4) d

9 G2 F forw s oofy # |7 g 2

(1) a (2) b

B) ¢ (4) d

Which structure is more economical?

(1) Light weight structure (2)  Determinate structure
(3) Indeterminate structure (4)  Cantilever structure
TN T HEAAT ATF Rt 8 2

(1) g ST ATeAT HL=AT (2) e g

(3) wt=fsra 5= (4) FoetET =T

The plane in which stresses in one of the three mutually perpendicular axes are zero, the state of
stress is known as

(1) Plane stress (2)  Zero stress

(3) Tensile stress (4)  Uniform stress

S e & i areeafier afSreraret & F uF gfdeer o977 2, 76 Tiader ST i #97 Fed 82
(1) == Tiaee (2) g Jfaae

(3) aEaufdEs (4) TEHH Ifaee

The planes that carry maximum and minimum direct stresses are

(1) Parallel (2) At acute angle to each other
(3) Mutually perpendicular (4) At obtuse angle to each other
F FHAT ST ATTHAT T IATH AT TTdae G0 F7d & -

(1) g#@T (2)  UFH TAL & A FT AT

(3) TEER dEaq (4)  TF TEL F ATF FHIT IT

If the end of the beam extends beyond the support, it is termed as
(1) Overhanging beam (2)  Simply supported beam
(3) Cantilever beam (4)  Continuous beam
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e o T BT ST & S T AT S, a7 TH AT FEA 8 2

(1) el fw (2)  =THTT S A
(3) FEAawdm (4) waadw
Maximum stress at which stress is proportional to strain is called

(1)  Yield point (2)  Breaking point

(3)  Elastic limit (4)  Proportional limit
I ATIFRAH TTATA Tl FIT Fgd @ STal Adae (i & THIAT A grar g ?

(1) wwrEE faeg (2) st faeg

(3)  weHTE HyHT (4)  wHTATE T

Which strength is determined on dividing the load at the time of fracture by original cross

section area?

(1) Tensile strength (2)  Rupture strength

(3) Yield strength (4)  Shear strength

A ATIET FT & FIT [AHS o6 0T AT T (AT el T (i awar Fet g ?
(1) T a¥ar (2)  wfa=Tr A

(3) TS AT (4)  STTETU AHAT

What is the compressive strength after 28 days for M20 concrete?

(1)  10N/sq.mm. (2) 20N/sg.mm.

(3) 30N/sqg.mm. (4) 40N/sg.mm.

M20 e # forw 28 fae o a1g |t awar fohast gl & ?

(1) 10N/sq.mm. (2) 20 N/sg.mm.

(3) 30N/sq.mm. (4) 40N/sq.mm.

What is the density of normal concrete?

(1) 2200 to 2600 kg/cu.m. (2) 2000 to 2400 kg/cu.m.
(3) 2000 to 2200 kg/cu.m. (4) 2200 to 2300 kg/cu.m.
HTHT Fhle T F9cd oha AT grar g ?

(1) 2200 # 2600 kg/cu.m. (2) 2000 # 2400 kg/cu.m.
(3) 2000 # 2200 kg/cu.m. (4) 2200 # 2300 kg/cu.m.
From the following which one is not a personal error?

(1)  Errorin Manipulation (2)  Inaccurate Centering
(3) Slip (4)  Eccentricity of Verniers
Arifea ® & I =T UF ATwId Al @l g ?

(1) wf=TeT § i (2)  STIATT Frxol

(3) f=m (4)  afe=i it Scheedar

Process of determining the difference of elevation of stations from observed vertical angles and

known distance is

(1) Tacheometry (2)  Traversing

(3) Trigonometrical Levelling (4) Contouring

STETT e HIT ST ATT LT T TATAT 6l SATS o AL Bl LT FLe ATeAT TTHAT i &1 g 2
(1) Fretady (2) =FET

(3) P qerem @) F=f

Which is widely used as coagulant in the water treatment plants ?
(1) Charcoal (2) Bitumen
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(3) Alum (4)  Asphalt
ST IUATT HA § TATIAF TLFHT B9 ATAT FIUI[CAE Al AT 8 ?

(1) =T (2) fgm

(3) waw (4) TUFETe

The size of field book is

(1) 20cmx12cm (2) 18 cmx13cm

(3) 19cmx14cm (4) 20cmx11cm

& e (Thee gF) &1 A foaar grar g ?

(1) 20cmx12cm (2) 18cmx13cm

(3) 19cmx14cm (4) 20cmx1lcm

How many links are there in 20 m and 30 m chains?

(1) 50 (2) 80

(3) 100 (4) 90

20 m 3T 30 m 9T | oAt w#EAT g g 2

(1) 5o (2) 80

(3) 100 (4) 90

In deep foundation depth of foundationis _ to the width of foundation.
1 > (2) <

3) = 4 =

O Aadfafimgasfiafiazes_ A\ gl

1 > (2) <

3) = 4 =

Which is not a type of coffer dam from the following?

(1)  Rock fill coffer dam (2) Double-wall coffer dam
(3) Pneumatic coffer dam (4)  Earthen coffer dam
TR & & 19 AT 1L T T TR A1 572

(1) T T FHIRT a7 (2) =L DAL FIHL AT
(3) aT=ET FIHT Y (4) T FTFRE A

The bed is defined as the

(1) Impression on top face of brick. (2)  Lower portion of brick.
(3)  Half cut portion of brick. (4)  Brick with three corners.
TEae Y a8

(1) %= F FU FF UL TATT (2) Z= = A=er fe

(3) =< T e Fey fREAT (4) o FIATATAT 2

The unit of per capita demand is

(1) litre per capita (2)  litre per day

(3) capita per day (4) litre per capita per day
st =ik Wi it TS FT 8 ?

(1) hexwfa=fte (2) wrexwffET

(3) =frwfe (4) ez via =fe wfa faw

Which of the following is not a type of springs?
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(1) Gravity (2)
(3)  Deep (4)
fArifea & & 17 |7 FATAT F7 THE T80 8 2

(1) T (2)
3) (4)

Surface
Artesian

"z
SHA

At a certain distance from the well, there is no appreciable depression of water-table from the

central line of the well is called

(1)  Reduce of influence (2)  Depressions head

(3) Cone of derisions (4) Depth of well

FU H g A g 9%, T AT e T TAFqL A G ST Al gidl, T8 FT FgeATdl 572
(1) e 7 BT (2)  srEwfa ofid

(3) STEME AT (4) FUAFT TR

The rainfall is measured in

(1) Rain gauge (2)  Rainpan

(3) Rainscale (4) Rain bottle

FuT T A9 e T Strar € 2

(1) =t =it (2) Furad

(3) =T &R (4) =T AR

The fullform of W.M.O.

(1) World Monitoring Organization (2)  World Meteorological Organization
(3) World Methodological Observation (4)  World Mapping Operating
W.M.O. T 27 &7 FT g ?

(1) =< wifAefar ahETEseE (2) a°% AT oTRe ARATZSI9T
(3) a°E HASTATSI A sAestaerT (4)  =oE AT At

In MKS the unit of viscosity is

(1) kgfsec/sq.m (2)  dynesec/sqg.cm

(3) Pas (4) N.s/sgq.m

MKS ¥, 97TedT it TohTs FaT 8 ?

(1) kefsec/sq.m (2)  dynesec/sg.cm

(3) Pas (4) N.s/sgq.m

The centre of gravity for horizontally immersed plane will be

(1) above the center of pressure (2)  below the center of pressure
(3) coincide with the center of pressure (4)  can’t say specifically.

gfas &9 7 [AutsTa T % oI & vz Fgl g ?

(1) I F= & FAT (2) =T e kA

(3) =T g & FUTAT (4) fafore =7 & 7 Fg T |
The service life of a treated timber sleepers can be taken as

(1) 7to10years (2) 10to 14 years

(3) 15to 17 years (4) 2to5years

ITATT SHILAT ARET o6 TATTL] T TG -3 TR T AT ST Tt § 2

(1) 7¥10a9¥ (2) 10&14 a7

(3) 15%17a¥ (4) 2¥599

Which fastening is used to keep the rails in their correct position?
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(1)  Fish plates (2) Chairs & Keys

(3) Broad Plates (4) Hook Plates

T T 30T Al Rl ® s=TT e F forw fae et w1 v R strar g 2
(1) frRawre (2) =EEFTH

(3) AewE @) TFwE

The cost of railway track is directly proportional to the width its

(1) gauge (2)  sleepers

(3) ballast (4) rail

YA ¢ T ARCT IHA! 67 ATSTE & ATHATIITAN & 2

(1) = (2) whuw

(3) g 4) =

Net income is the difference between gross income and

(1) outgoing (2)  salvage value

(3) bookvalue (4)  municipal taxes
& AT THA AT 3T A AATE N

(1) == (2) T I AT T
(3) #FFHHT (4) "I EFR

Which method is not appropriate for calculating depreciation?

(1)  Sinking fund method (2)  Straight line method
(3) Quantity survey method (4)  Average Percentage method
oA T 0T 3 oI il T fa SUah A2i § 2

(1) zaa s (2) et FwIR wEfr
(3) =TT HAEAw ughA (4)  3ir\q gfdea vgfa
Which of the following parameter is included in Abstract Sheet?

(1) Length (2) Amount

(3) Area (4)  Height

rerifera ® & foFer Gereites 1 @meier sfte # oo fohar srar g

(1) @are (2) =t

(3) & @) FETE

The cracks which partly or completely separate the fibres of wood is

(1) Dead Wood (2)  Chemical Stain
(3) Shakes (4) Knots

F T ST ATET o6 A3 T SATAF AT T TG F AT FE AT &

(1) I a*H:T (2) TETEEE SRS
3) f= @) s

Fire bricks are made from

(1) firesand (2) fireclay

(3) acidic marble (4)  stone powder
g S fFrEa a2 g 2

(1) afme¥E (2)  erfoe g

(3)  SrweLI HTHTAY (4) wEAT A

In IS soil classification, symbol M represents
(1) Boulder (2) Moorum
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(3) silt (4) Sand
IS FaT afiwer #, M e Fa7 g9far g 2

(1) afe=x (2) =T

3) = 4) =

A sample is that in which the natural structure and properties remain preserved is called
(1) Disturbed sample (2)  Undisturbed sample

(3) Rotary sample (4)  None of these

g AT For# ATHfde =T 7 07 §ferd @d 3

(1) faregsar g (2)  srferegse AT

(3) =i T (4) T A

The permeability of soil varies approximately

(1) asthe square of grain size (2) inversely as the square grain size
(3) asthe cube of grain size (4) inversely as the cube of grain size
T 3T TIATFAT AT P9 gt ¢

(1) 0T ST o a9 o AT (2) AT T AR 6 TTAATTHT TET
(3) T ST o o & AET (4) T SAHT F AT F AAAHT ATET
Haryana Government made PGT transfers in education department by which transparency
system ?

(1) EDUSAT (2)  HSWAN

(3) GIS Portal (4)  MIS Portal

g g T forear faremr & e aregeff sorreft & PGT 3 wameitea<or & €2

(1) EDUSAT (2)  HSWAN

(3) GISTEw (4)  MIS TEs

Which village is declared as first 'Swaprerit Adarsh Gaon' (Self-motivated Ideal Village) of
Haryana ?

(1)  Sui (Bhiwani) (2)  Ratia (Fatehabad)

(3) Rania (Sirsa) (4)  None of these

T |7 T AT /T TgaAT Fa9q arael e =iua B g ?

(1) =& () (2) i (FdETETE)

(3) v () (4)  TAH T FE AL

Which historical sites of Haryana was excavated under the guidance of Dr. Suraj Bhan ?
(1) Mitathal (2) Banawali

(3) Ropar (4)  None of these

Tt FISTAT F T & g F fr tftgries e i gere £ 7 o172

(1) AT (2)  FATEAT

(3) mE (4) =T L AE

How many subdivisions are there in Haryana?

(1) 70 2) 72

(3) 69 (4)  None of these

AT § fohd e STHEA 8 ?

(1) 70 (2) 72

(3) 69 (4) TAHFFE TE
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In Haryana, Lifetime Achievement award of 2 lakh rupees for men in sports will be given on the
name of

(1)  Mahavir Sinh (2)  Prithviraj Chauhan

(3) Bhagat Singh (4)  Maharana Pratap
AT | Tl H ATSH ST2H SAATaHE HT 2 AT €0 FT TERIT TEUT [ Fohd 718 & o7 e
(1) werE fiE (2) TS ARE

(3) wra = (4)  HETOT I4qTT

Who is present Chairman of Haryana Pradesh Congress Committee ?

(1) Ashok Tanwar (2)  Bhupinder Singh Hooda
(3) Dr.SitaRam (4)  Charanjeet Singh Rori
AT T2 | AT & TAATT AT Fl 872

(1) 79T a=aT (2) Hfiez g ger

(3) =t A (4) =vorshia fig o

Aruna Asaf Ali of Panchkula, Haryana is wellknown

(1)  Activist (2)  Publisher

(3) Politician (4)  All of these

THEFAT, ZRATIT F STE0T AEF AT TF TTog 2l

(1) ufFefre 2) ufeeer

(3) Troifas @) Fasf

The biggest Cactus-Garden of Asia is situated in this city of the Haryana state :
(1)  Panchkula (2) Kaithal

(3) Faridabad (4) Gurgaon

TFSTAT T Had T=T e d e gIATT T5T o 3] AL H dareqd § -

(1) d=EgarH (2) FATH

(3) wiEmEEH (4) TEAEH

In which of the following districts Kunal Pre-Harappan site was discovered ?
(1) Hisar (2)  Sirsa

(3) Fatehabad (4)  Bhiwani

et & & o fSrer § F97e 03 g2 o9 #2019 @IS 147 872

(1) fEr (2) e

(3) hdgETE (4) foaer

Which of the following river is known by the name of Aruna in ancient period ?
(1) Sahibi (2)  Indori

(3) Markanda (4) Ghaggar

9% 5 | 1 €T L AT FTA § SE0T 6 ATH H ST S off ?

(1) =fedT (2) ==

(3) wTTFU=T @4) =

Which is the State Bird of Haryana ?

(1)  Cuckoo (2)  Monal

(3) Black Francolin (4)  Peacock

ghaTor &7 57 weft Fi | 87

(1) FFa (2) AMEA

(3) =TT fAaT (=ereh Hheprior) (4) =X
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The only temple of Lord Parsuram in India is situated in Haryana in the district of

(1)  Panipat (2)  Bhiwani
(3) Rewari (4) Jind
AT | TLETH & THATT #iaw ghamo & =9 oo 7 fua &:

(1) O (2) T
(3) warst (4) Sz
Parineeti Chopra was born in the district of

(1) Faridabad (2)  Panchkula
(3) Chandigarh (4) Ambala
ROt FTTET &1 S 39 5o | g o

(1) wiiEmEE (2)  dEFAT
(3) ==rE (4)  sf&ETET

In 1947 when India was declared Independent, Haryana was a part of which of the following
States ?

(1) Delhi (2)  Himachal Pradesh
(3) Punjab (4)  None of these
1947 ¥ qTLT T TAa=TdT T AT o THT ZRATOT =5 § 7 o Tre &7 917 97?2
(1) oot (2) BT yeer

(3) dwmE (4)  =AH A TE
Aravalli Ranges are situated in which part of Haryana ?

(1) Eastern (2)  Southern

(3) Northern (4)  None of these
FLTAAT TATHTAT FILATITT 6 T AT | STafeerd g2

(1) wAf (2) =few

(3) =wa (4) =AHHFFE TG
Rewri and Gajjak are well-known items of which city of Haryana ?

(1) Pinjore (2)  Panchkula

(3) Rohtak (4) Mewat

YA TAT TTeh ZIATUT F A1 & 9787 Y Tfig a=qu g 2

(1) fise (2)  d=EFEr

(3) Ea=® (4) waa

Who from the following is Golf player of Haryana, who won the Silver Medal at Asian Games-
20107

(1)  Sumit Khranger (2)  Chandgi Ram

(3) Abhinav Lohan (4)  Ramesh Kumar
5 5 & gRATIT % FI9 | Teh @7 F TR 1992010 § TS T8 ST 97?
(1) T (2) ST

(3) wfvma AEm (4) THAFAR

Near which district of Haryana Morni hills are situated ?

(1) Panchkula (2) Karnal

(3) Yamunanagar (4) Ambala

ZRATT % e et 3 fRehe WAt wertsat ffura 82
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(1) =T (2)  FAT

(3) JHATATL (4) STEATAT

Who excavated the Indus Valley Civilization Site Siswal ?

(1) D.R.Sahani (2)  SurajBhan

(3) R.D.Bennetiji (4)  J.P.Joshi

ey =Tt T v fAeaTer 1 Scaa e a2

(1) & aw arh (2) A

(3) Y dast (4) ST STeft

In which of the following city of Haryana, the Metro reached first ?

(1) Sonipat (2)  Rohtak

(3) Gurgaon (4) Ambala

g & Referfaa & & o gz § #27 999 18 ag=t ?

(1) (@) T

(3) T (4)  srFETAT

The tomb of famous Sufi Saint Shaikh Chelli is at

(1) Hansi (2)  Sonipat

(3) Panipat (4) Thanesar

wferg goft | o freeft &1 weaeT e e e g 2

(1) =t (2) =

(3) I (4)  gmET

Which award is given by Haryana Urdu Academy for excellence in Urdu Literature ?
(1)  Mirza Galib Award (2)  Urdu Sahitya Ratna
(3) Hali Award (4)  None of these
AT 33 STt 5T 33 At # faferear & form #1+ &1 e e srar g 2
(1) oIt e wewre (2) SZARE T

(3) &l R 4) =AH T A

As per recent announcement of Haryana Government, headquarter of 'Haryana 100' (a
centralised Police Emergency system) will be in which district of Haryana ?

(1) Panchkula (2)  Bhiwani

(3) Ambala (4) Chandigarh

ERATOT AT AT ST T =0T 6 AGAE GRATT 100" (TF Fihd rerd SaTaawtent ao) F7 e
ghamor 3 e e 7 grm?

(1) =g (2) foarh

(3) e (4) =ERTE

Who inaugurates the International Gita Mahotsav 2017 in Haryana ?
(1)  Manohar Lal Khattar (2)  Narendra Modi
(3) Ram Nath Kovind (4)  Sushma Swaraj
AT & Siaergi T Jgread 2017 &7 AT foraer o o2

(1) AR @5t (2) TEgHEES

(3) AT FIfET (4) qUHT F|OS
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The three famous battles of Indian History were fought on the plains at Panipat, except in the

year
(1) 1526 (2) 1556

(3) 1761 (4) 1656

AT 2fae™ & i afirg 75 9ria F feEi 1w g €, e ad

(1) 1526 (2) 1556

(3) 1761 (4) 1656

Delhi became the capital of India in

(1) 1931 (2) 1921

(3) 1947 (4) 1950

et e 7 TSl | = T ?

(1) 1931 (2) 1921

(3) 1947 (4) 1950

Who was appointed as the new chairman of FTIl Pune ?

(1)  Nassiruddin Shah (2)  Anupam Kher
(3) Navazuddin Siddique (4) Irfan Khan
FTII THT % 77 s7e7er & = 7 forey fAge o a2

(1) ARreda o (2) FTmET

(3)  FaTSrEr (4) =TEEENE
Kalahari Desert is in

(1) South Africa (2) India

(3) US.A. (4)  Australia
FIATETE AEEIT F2T € ?

(1)  =feror st (2)

(3) FUuAT (4)  stegferT

Who did write Hind Swaraj ?

(1) Vinoba Bhave (2)  Gandhiji

(3) Sardar Patel (4)  Jawaharlal Nehru
"fRvg TS Eae e fordt off 2

(1)  Frerar amr 2)  itefish

(3) WU (4)  SEETAT T

In a line of 20 students, Kunal stood at 15th position from left and Kartik stood at 15th position
from right. How many students would be there between Kunal and Kartik ?

(1) 7 (2) 8

3) 9 4) 6

20 fa=rfat i FaTe § FOTe a8 | 159 T 9T 37 Ffdd 13 F 159 TI79 92 8, T O 37T i
Fr= 7 e et g 2

1 7 2) 8

) 9 (4) 6

Ramesh is the only boy child of his parents. If the person is the only daughter of his mother.

What would she call him ?
(1) Aunty (2)  Sister
(3) Brother (4)  None of these
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THOT IHF AI-ATT T U g ASHT & | T[S g A< SHAT ATAT il U & AShT & AT A8 ASHT I FAT Fgahe
TATHAT ?

(1) == (2) &=F

(3) wr= (4) =AHF L AE

Z1)4:Y215::B6Q8: _ ?

Choose the same relationship.

(1) C719 (2) B5T8

(3) Z3H5 (4) A7P9S
Z1)4:Y215::B6Q8: _?

T T4 FT FI9 HIoT |

(1) C719 (2) B5T8

(3) Z3H5 (4) A7P9

If DRAGON = 123456, NDOGAR = _ ?

Fill in the blank.

(1) 642351 (2) 152643

(3) 625314 (4) 615432

7ts DRAGON = 123456, NDOGAR = ?

e wame it qfd Ffom

(1) 642351 (2) 152643

(3) 625314 (4) 615432

If 1/3 +1/2 + 1/x = 4, then the value of x is

(1) 5/18 (2) 6/19

(3) 18/5 (4) 24/11

TR 1/3+1/2+ 1/x=4TAXFTAAE

(1) 5/18 (2) 6/19

(3) 18/5 (4) 24/11

The average of 2, 7, 6 and x is 5 and the average of 18, 1, 6, x and y is 10. What is the value of y ?
(1) 5 (2) 10

(3) 20 (4) 30

2,7,6 AT xFT AT 5 2T 18, 1, 6, x AT y T G 10 8, ATy FT AT FATE ?
(1) 5 (2) 10

(3) 20 (4) 30

Two-third of a positive number and 25/216 of its reciprocal are equal. The number is
(1) 5/12 2) 12/

(3) 25/144 (4)  144/25

T AT ST & a1 Agre i IH Fohd FT 25/216 THE &, AT dE&T g
(1) 5/12 (2) 12/5

(3) 25/144 (4)  144/25

76% of the students in a school are boys. If the number of girls is 204, then the total number of
students is

(1) 760 (2) 800

(3) 850 (4) 900

T T | /6% TF=mdt 7=+ g | afs aefrai it dear 204 g, av ety i g« gear g
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9s.

(1) 760 (2) 800

(3) 850 (4) 900

Which hormone is secreted if the sugar level in blood rises ?

(1) Peptide (2)  Thyroid

(3) Testosterone (4)  Insulin

TS T | 9T FT T G AT ¢ T I |7 THIA SAT1ad gl g 2

(1) UrerEE (2) =TEIEE

(3) ZEETEEW (4) =g

Due to which phenomenon, Sun appears reddish at the time of Sunrise ?
(1) Scattering (2)  Reflection

(3) Polarization (4) TR

TR ST % FT0T gITET & 99T g3 A7 [3@rE 3ar g ?

(1) weh= (2) TEdA

(3)  erdtEwwr (4) TR

Which lens is prescribed if its power is + 2.0 D

(1) Plane (2) Convex

(3) Concave (4)  Plano Concave
T AT AT S terd 6T Sar 8 Jfe sehr arae + 20D 8 ?

(1) #\aw (2) S

(3) eEaw (4) FHTA-FTIA

Supply suitable article in the following blank if needed :
Ganga is a sacred river.
1) A (2) An
(3) The (4) No article

Supply suitable preposition in the following blank :

You must not lose your sleep this problem.
(1) in (2) about
(3) of (4) over

Give one word substitute for the following expression :

is a form of government with a monarch at the head.
(1) Monarchy (2)  Secular
(3) Plutocracy (4)  Thearchy

Select the word from the following that is most similar in meaning to the word in capital letters:
HUTCH

(1) Expose (2) Cabin

(3) Spoil (4) Mar

Select the word from the following that is opposite in meaning to the word in capital letters :
SCRUTINY

(1) Oversight (2)  Inspection

(3) Search (4) Investigation
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FratarT w1 AT

(1)  =Tat + =y (2)
(3) AT + ey (4)
9% 5 | F9 97 AT THIE FT IS0 Al @ ?
(1) =t (2)
(3) =ETereTa 4)
Frafxy erehetT qETaT FT AT

(1) T Eew AT )
(3)  WETad F g FTAT 4)
FE 915 T TATIATHT

(1) =&q, =T (2)
(3) g, waw (4)
M dasmarassaaqa g ?

(1) e (2)
(3) @ (4)

Tar + Ty
AqTT + AT

TRATATT h{AT

HHTET AAAT

T, FgalT
WO, TIF



